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CHAPTER TEST - 2

BIO-BOTANY
Std / Dept : 12
Time Allowed : 40 MIN Max. Marks : 20
MULTIPLE CHOICE QUESTION 5*1=5
1. Fruit colour in squash is an example/of
a ) Recessive epistatsis b yDominant epistasis

¢ ) Complementary genes d ) Inhibitory genes
2. Test cross involves
a ) Crossing between two genotypes with recessive traif
b ) Crossing between twoF1 hybrids
¢ ) Crossing the F1 hybrid with a double recessive genotype
d ) Crossing between two genotypes with dominant trait
3. Select theperiod for Mendel's/hybridization experiments

a) 1856 - 1863 b) 1850 - 1870
¢ )A857 - 1869 d) 1870 - 1877

4. Select the correct statement frem the ones given below with respect'to dihydrid
Cross

a ) Tightly linked genes on the same chromosomes show very few combinations
b-) Tightlylinked genes'eon the same chromosomes show higher combinations
¢ ) Genes far apart on the same chromosomes show very few recombinations
d ) Genes loosely linked on the'same chromosomes show similar recombinations
as the tightly linked ones

5. The dominant epistatis ratio is

a)9:3:3:1 b)12:3:1
c)9:3:4 d)9:6:1
VERY SHORT ANSWER 2*2=4

6. Define Genetics.
7. Give the names of the scientists who rediscovered Mendelism.

SHORT ANSWER 2*3=6
8. Explain the law of dominance in monohybrid cross.

9. Name the seven contrastingtraits of Mendel.

LONG ANSWER 1*5=5

10. Differentiate continuous variation with discontinuous variation.
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